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SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 SIS0t 4 A AS A 72,824 81,000 N8B, 176
Ok MtalclzlsX2dH 28X 72,824
= 36,412
< 36,412
Nt H2edad 28 135,000 164,700 129,700
201 er= 3| 135,000 135,000 0
01 AtR2tc|HI 15,000 15,000 0
OMHOtMUHER o4& =Y 15,000
2 S524g4l 120,000 120,000 0
Ototd atatal AIAE RX|2tel] 120,000
XZetA A2 15 XIZ A (=H]) 55,431 0 55,431
= 48,200
< 7,231
308 AXIMSOIA 55,431 0 55,431
= 48,200
& 7,231
01 HASHHBSEEXS 55,431 0 55,431
OXXANAIEE IS 55,431
= 48,200
= 7,231
SSAE SH=5 40,000 200,000 160,000
= 40,000
403 AXIEHMSA=Z0l1d 40,000 200,000 160,000
= 40,000
01 MXISHH A =22 40,000 200,000 160,000
O=sAe s453 40,000
= 40,000
MDA sl SXs 2208 29 19,000 0 19,000
= 9,500
== 9,500
308 AXIHSOIA 19,000 0 19,000
= 9,500
< 9,500
11 S 2S0UeZBSHASAIE 19,000 0 19,000
OMtIo At 2=SXs 2208 29 19,000
= 9,500
= 9,500
Hr2d FAAEZ US AHAE EXIAE 150,000 0 150,000
= 150,000
403 MR EHSAHE01H 150,000 0 150,000
= 150,000
01 A2 2L 150,000 0 150,000
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SRl K ol & S2XE (SH9 H2)
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= 150,000
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403 AXIEHHSAH=0lH 5,000 5,000
01 XISHH A =22 5,000 5,000
O8¢ ==028 ANEOSY 5,000
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403 AXIEHMSA=0ld 30,000 30,000
01 A= 2L 30,000 30,000
OO0 2s8det A= 30,000
MHZESMAAE 2 50,600 25,600 25,000
MHEBSAAAE Al 2= 2 29 50,600 25,600 25,000
MHHESAAIAE 22| 37,000 12,000 25,000
201 Lt 12,000 12,000 0
02 S3=24l 12,000 12,000 0
OMHEESA Fdl & e =Xl 12,000
405 Atats = 25,000 25,000
01 M ESFH SHI 25,000 25,000
OSEEL Mot aas 2 Y 25,000
SEEE Njuetdad 4 DHie ¢ 22 13,600 13,600 0
201 ZeH2& ] 13,600 13,600
01 AtR2telbl 13,600 13,600
OSFEE HUHAEEE & SHUM 58 13,600
Mg S (KT 29,061,654 24,851,974 4,209,680
SEXES(RATHED) 216,000 363,320 147,320
KNLH(ES=EIN2 UHL3) Ol Kraks 216,000 363,320 A 147,320
311 XS0l AHate 216,000 363,320 A 147,320
02 Sst=87 |2 XS0l Atatgt 216,000 363,320 A147,320
O X = Hdl XIZXH Ol Ktaket 216,000
L1 eH KT &= (KHH TH ) 28,845,654 24,488,654 4,357,000
HES S URAH 195,654 188,654 7,000
705 Ol=2 iz 195,654 188,654 7,000
04 Al - EXSNL DS 0= 01 Riatgt 195,654 188,654 7,000
OMoi I8 X+ ZBIAtY XISIHE D= Ok
o 124,884
O=ZA SUR/ASXSE ZHIAE XISoHE
JI= OlXr&tet 63,770
OZ3AES HAEZAE XIHED=2 0l
INESES, 7,000
Mol SJI= dES 9,550,000 8,100,000 1,450,000
RISHES 9,550,000 8,100,000 1,450,000
01 JI=d&Es 9,550,000 8,100,000 1,450,000
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0 JI=dEs 19,100,000 16,200,000 2,900,000
OMt2edls &= 19,100,000
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JI2ZBI(RFATHE ) 74,160 74,160 0
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01 AtR2telbl 35,190 35,190 0
OXATHL HRFE 35,190
202 04| 35,190 35,190 0
01 =LA LI 35,190 35,190 0
OXATHL HRF 35,190
203 2R 3,780 3,780
MU FA2ELRFAI 3,780 3,780
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